EXERCISE  14-10-03
You are given the following STUDENT relation:

CREATE TABLE STUDENT

(

Stud-ID: CHAR(15),
FIRST-NAME: CHAR(20),
LAST-NAME: CHAR(20),
PHONE: INTEGER,
BDATE: DATE,

);

In order to store the relation, you are given the following additional information:

· The relation contains 10,000,000 tuples.
· Each disk block can store up to 4KB (i.e., 4096 bytes).
· Each block for storing the relation has a header of 16 bytes.

· Tuples are packed in blocks one after the other. 
· Tuples cannot be spanned.
· INTEGER requires 4 bytes and DATE 10 bytes.

Answer the following questions:
a. Compute the number of tuples that can be stored in one block, and the total number of blocks required for storing the full relation.


b. You are told that the relation will grow up to a maximum of 20 times the number of original tuples. Given that each disk can store up to 5Giga bytes and you are requested to maintain each disk 20% empty, compute the number of disks required to store the relation.


